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TJ = R1 Xp R> 23 | Albert | 45000 | 23 45 | 34000

ol 23 | Albert | 45000 | 42 | 457 | 40000

or(R1 x Ro) g R+ x Ro 42 | Rob | 37000 | 23 45 | 34000

42 | Rob | 37000 | 42 | 457 |40000

J] := [Ri] U[R2], P : [R1]U [Ra] — bool | 77| Peter | 50000 23 45 | 34000

- — —— | 77 | Peter | 50000 | 42 | 457 |40000

43 | Frank | 60000 | 23 45 | 34000

23 | Albert | 45000 23 45 34000 :Z :m 22222 jg 44557 j:ggg
42 Rob | 37000 bd 42 457 | 40000 m

T Bare 20000 12 | Hans | 15000 | 23 45 | 34000

3 T o 60000 12 | Hans | 15000 | 42 | 457 |40000

— S s 88 | Peter | 50000 | 23 45 | 34000

> ——— 2000 88 | Peter | 50000 | 42 | 457 | 40000
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[TJ] := [R1] U [R7]
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23 Albert | 45000
42 Rob 37000
77 Peter 50000
43 Frank | 60000
66 Tim 55000
12 Hans 15000
88 Peter 50000

Albert | 45000 | 23 45 34000
Albert | 45000 | 42 457 40000

Rob | 37000 g 457 40000

lans | 15000 | 45 34000

12 | Hans | 15000 | 42 457 40000
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mit P := R1.[L] == Rao.[R] und [L] € R4, [R] € R>
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